		Count	Percent	Cumulative Count	Cumulative Percent	
2. While a student at Dalton State	College Lwas mainly o	nrollod:				
	College, I was mainly e					
Full-Time		2	66.67 %	2	66.67 %	
Part-Time		1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
. I was currently enrolled in:						
Business, General		2	66.67 %	2	66.67 %	
Licensed Practical Nursing		1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
. How long did it take you to con	nplete your program at I	Dalton St	ate College?			
2 years		1	33.33 %	1	33.33 %	
3 years		1	33.33 %	2	66.67 %	
4 or more years		1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
3. What are your immediate plans	after graduation?					
	3	4	22.22.0/	4	22.22.07	
a. Obtain further educationb. Obtain full-time employment (g	ro to guestion 11)	1 2	33.33 % 66.67 %	1 3	33.33 % 100.00 %	
b. Obtain full-time employment (g						
	Total Responses	3	100%	3	100%	
If your plans are to continue yo	ur education, do you pl	an to eve	entually			
(Not Answered)		2	66.67 %	2	66.67 %	
a. Obtain another Associate/Cert	ificate degree?	1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
0. How well did Dalton State Coll	lege prepare you for co	ntinuing	your			
education?						
(Not Answered)		1	33.33 %	1	33.33 %	
a. Extremely well		1	33.33 %	2	66.67 %	
b. More that adequately		1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
11. What is your current employm	ent status?					
c. Working part-time at the job I h	nad before I	2	66.67 %	2	66.67 %	
graduated					· •	
d. Working full-time at the job I ha	ad before I graduated	1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	

15. Check the ONE method which best characterizes the way you obtained your

	Co	ount	Percent	Cumulative Count	Percent Percent	
iob:						
a. Continued in job held prior to [OSC	1	33.33 %	1	33.33 %	
b. Through a contact/referral		1	33.33 %	2	66.67 %	
g. Direct application		1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
6. What is your starting salary?						
a. Under \$25,000		2	66.67 %	2	66.67 %	
b. \$25,001 - \$30,000		1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
17. How closely related is your jol	b to your degree major?					
a. Highly related		2	66.67 %	2	66.67 %	
d. Slightly related		1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
a. Very important c. Not important		1 2	33.33 % 66.67 %	3	33.33 % 100.00 %	
	Total Responses	3	100%	3	100%	
20. How well did your experience	at DSC prepare you for y	our job	?			
a. Fully prepared		1	33.33 %	1	33.33 %	
b. Moderately prepared		2	66.67 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
19. In your opinion, how difficult v	was it to obtain a job in y	our deg	ree major?			
b. Difficult		1	33.33 %	1	33.33 %	
d. Easy		1	33.33 %	2	66.67 %	
e. Did not seek a job in my degre	e major	1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
21. How satisfied are you with you	ur job placement?					
a. Very satisfied		2	66.67 %	2	66.67 %	
b. Satisfied		1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	

Table 1 Competencies - a. Principles of Accounting I and

				Cumulative	
	Cou	nt	Percent	Count	Percent
ole 1 Competencies - a. Prir	nciples of Accounting I and				
(Not Answered)		1	33.33 %	1	33.33 %
4		1	33.33 %	2	66.67 %
5		1	33.33 %	3	100.00 %
	Total Responses	3	100%	3	100%
ble 1 Competencies - b. Priı	nciples of Accounting II or				
(Not Answered)		1	33.33 %	1	33.33 %
4		1	33.33 %	2	66.67 %
5		1	33.33 %	3	100.00 %
	Total Responses	3	100%	3	100%
ble 1 Competencies - c. Offi	ice Accounting Procedures and	i			
(Not Answered)		1	33.33 %	1	33.33 %
5		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
able 1 Competencies - d. Inte	ermediate Accounting Procedu	res			
(Not Answered)		1	33.33 %	1	33.33 %
4		1	33.33 %	2	66.67 %
5		1	33.33 %	3	100.00 %
	Total Responses	3	100%	3	100%
ıble 1 Competencies - e. Fur	ndamentals of Computer Applic	ation	s or		
(Not Answered)		1	33.33 %	1	33.33 %
4		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
able 1 Competencies - f. Intro	oduction to Computers				
4		1	33.33 %	1	33.33 %
5		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
ıble 1 Competencies - g. Bus	siness Electives				
(Not Answered)		1	33.33 %	1	33.33 %
5		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
able 1 Competencies - h. Maj	jor Field Course Electives				
able 1 Competencies - h. Maj	jor Field Course Electives	3	100.00 %	3	100.00 %

			(Cumulative	Cumulative	
	Co	ount	Percent	Count	Percent	
able 1 Competencies - h. Maj	ior Field Course Flectives					
able i Competencies - II. Maj	oi i leiu course Liectives					
	Total Responses	3	100%	3	100%	
able 2 Outcomes - a knowle	dge of the underlying theory	and an	nlication of			
ccounting concepts for repo						
Stressing the relationship bet	_					
prepared and the use of						
(Not Answered)		1	33.33 %	1	33.33 %	
Agree		1	33.33 %	2	66.67 %	
Strongly Agree		1	33.33 %	3	100.00 %	
Oliongly Agroo	Total Responses	3	100%	3	100.00 %	
	rotal Nesponses	3	100 /0	3	100 /0	
able 2 Outcomes - b. knowle	dge of the underlying theory	and ap	plication of			
nanagerial accounting conce	pts. Stressing the study of fi	nancial	and			
ion-financial information for ι	use by internal decision mak	ers and	the role of			
managerial accounting in a						
(Not Answered)		1	33.33 %	1	33.33 %	
Agree		1	33.33 %	2	66.67 %	
Strongly Agree		1	33.33 %	3	100.00 %	
			33.33 /6	3	100.00 /6	
	Total Responses	3	100%	3	100.00 %	
	-	3	100%			
able 2 Outcomes - c. knowled	dge of the accounting cycle	3 with em	100% phasis on			
able 2 Outcomes - c. knowled	dge of the accounting cycle value of the accounting cycle value.	3 with em is includ	100% phasis on des preparing			
able 2 Outcomes - c. knowled ccounting procedures typica nancial statements, work wit	dge of the accounting cycle value of the accounting cycle value.	3 with em is includ	100% phasis on des preparing			
Table 2 Outcomes - c. knowled accounting procedures typica inancial statements, work wit	dge of the accounting cycle value of the accounting cycle value.	3 with em is includ	100% phasis on des preparing			
Fable 2 Outcomes - c. knowled accounting procedures typica inancial statements, work wit	dge of the accounting cycle value of the accounting cycle value.	3 with em is includ	100% phasis on des preparing			
Fable 2 Outcomes - c. knowled accounting procedures typica inancial statements, work wit accounting	dge of the accounting cycle value of the accounting cycle value.	3 with em is includare ban	100% phasis on des preparing k statements,	3	100%	
Table 2 Outcomes - c. knowled accounting procedures typical inancial statements, work wit accounting (Not Answered)	dge of the accounting cycle value of the accounting cycle value.	3 with em is includare ban	100% phasis on des preparing k statements, 33.33 %	3	100% 33.33 %	
Table 2 Outcomes - c. knowled accounting procedures typical financial statements, work with accounting (Not Answered) Agree	dge of the accounting cycle of the accounting cycle of the service business. The highest journals and ledgers, prep	3 with em is includare ban 1 2	100% phasis on des preparing k statements, 33.33 % 66.67 % 100%	3 1 3	33.33 % 100.00 %	
Fable 2 Outcomes - c. knowled accounting procedures typical inancial statements, work with accounting (Not Answered) Agree	dge of the accounting cycle of the service business. The higher property of the procedures for p	3 with em is includ are ban 1 2 3 omissor	100% phasis on des preparing k statements, 33.33 % 66.67 % 100% ry notes, bad	3 1 3	33.33 % 100.00 %	
Table 2 Outcomes - c. knowled accounting procedures typical financial statements, work with accounting (Not Answered) Agree Table 2 Outcomes - d. knowled	dge of the accounting cycle of the service business. The higher property of the procedures for p	3 with em is includ are ban 1 2 3 omissor	100% phasis on des preparing k statements, 33.33 % 66.67 % 100% ry notes, bad	3 1 3	33.33 % 100.00 %	
Table 2 Outcomes - c. knowled accounting procedures typical financial statements, work with accounting (Not Answered) Agree Table 2 Outcomes - d. knowled	dge of the accounting cycle of the service business. The higher property of the procedures for p	3 with em is includ are ban 1 2 3 omissor	100% phasis on des preparing k statements, 33.33 % 66.67 % 100% ry notes, bad	3 1 3	33.33 % 100.00 %	
Table 2 Outcomes - c. knowled accounting procedures typical financial statements, work with accounting (Not Answered) Agree Table 2 Outcomes - d. knowled debt, depreciation, accurals a	dge of the accounting cycle of the service business. The higher property of the procedures for p	3 with em is includ are ban 1 2 3 omissor nd corp	phasis on des preparing k statements, 33.33 % 66.67 % 100% Ty notes, bad orations.	1 3 3	33.33 % 100.00 % 100%	
Table 2 Outcomes - c. knowled accounting procedures typical inancial statements, work with accounting (Not Answered) Agree Table 2 Outcomes - d. knowled the counting accurate acc	dge of the accounting cycle of the service business. The higher property of the procedures for p	3 with em is includare ban 1 2 3 omissor nd corp	phasis on des preparing k statements, 33.33 % 66.67 % 100% Ty notes, bad orations. 33.33 %	1 3 3	33.33 % 100.00 % 100%	
Table 2 Outcomes - c. knowled accounting procedures typical rinancial statements, work with accounting (Not Answered) Agree Table 2 Outcomes - d. knowled debt, depreciation, accurals and (Not Answered) Agree	dge of the accounting cycle of the service business. The higher property of the procedures for p	3 with em is includare ban 1 2 3 omissor nd corp 1 1	phasis on des preparing k statements, 33.33 % 66.67 % 100% Ty notes, bad orations. 33.33 % 33.33 %	3 1 3 3	33.33 % 100.00 % 100% 33.33 % 66.67 %	
Table 2 Outcomes - c. knowled accounting procedures typical inancial statements, work with accounting (Not Answered) Agree Table 2 Outcomes - d. knowled debt, depreciation, accurals at (Not Answered) Agree Strongly Agree	dge of the accounting cycle of in teh service business. The highest journals and ledgers, preparately Total Responses dge of the procedures for preparately for the preparately for the preparately for the procedures for preparately for the preparately for the procedures for preparately for the procedure for	3 with em is includare ban 1 2 3 omissor nd corp 1 1 1 3	phasis on des preparing k statements, 33.33 % 66.67 % 100% Ty notes, bad orations. 33.33 % 33.33 % 33.33 % 100%	1 3 3 1 2 3	33.33 % 100.00 % 100% 33.33 % 66.67 % 100.00 %	
Table 2 Outcomes - c. knowled accounting procedures typical inancial statements, work with accounting (Not Answered) Agree Table 2 Outcomes - d. knowled lebt, depreciation, accurals and (Not Answered) Agree Strongly Agree	dge of the accounting cycle of in teh service business. The highest journals and ledgers, preparately Total Responses dge of the procedures for prediction of the predictio	with emis includer are ban are	phasis on des preparing k statements, 33.33 % 66.67 % 100% ry notes, bad orations. 33.33 % 33.33 % 33.33 % 100%	1 3 3 1 2 3	33.33 % 100.00 % 100% 33.33 % 66.67 % 100.00 %	
Table 2 Outcomes - c. knowled accounting procedures typical inancial statements, work with accounting (Not Answered) Agree Table 2 Outcomes - d. knowled debt, depreciation, accurals at (Not Answered) Agree Strongly Agree	dge of the accounting cycle of in teh service business. The highest journals and ledgers, preparately Total Responses dge of the procedures for prediction of the predictio	with emis includer are ban are	phasis on des preparing k statements, 33.33 % 66.67 % 100% ry notes, bad orations. 33.33 % 33.33 % 33.33 % 100%	1 3 3 1 2 3	33.33 % 100.00 % 100% 33.33 % 66.67 % 100.00 %	
Table 2 Outcomes - c. knowled accounting procedures typical inancial statements, work with accounting (Not Answered) Agree Table 2 Outcomes - d. knowled debt, depreciation, accurals at (Not Answered) Agree Strongly Agree	dge of the accounting cycle of in teh service business. The highest journals and ledgers, preparately Total Responses dge of the procedures for prediction of the predictio	with emis includer are ban are	phasis on des preparing k statements, 33.33 % 66.67 % 100% ry notes, bad orations. 33.33 % 33.33 % 33.33 % 100%	1 3 3 1 2 3	33.33 % 100.00 % 100% 33.33 % 66.67 % 100.00 %	
Table 2 Outcomes - c. knowled accounting procedures typical financial statements, work with accounting (Not Answered) Agree Table 2 Outcomes - d. knowled debt, depreciation, accurals and (Not Answered) Agree	dge of the accounting cycle of in teh service business. The highest journals and ledgers, preparately Total Responses dge of the procedures for prediction of the predictio	with emis includer are ban are	phasis on des preparing k statements, 33.33 % 66.67 % 100% ry notes, bad orations. 33.33 % 33.33 % 33.33 % 100%	1 3 3 1 2 3	33.33 % 100.00 % 100% 33.33 % 66.67 % 100.00 %	

				Cumulative	
	Co	ount	Percent	Count	Percent
ele 2 Outcomes - e. knowled	dge of the basic level of com	puter a	oplications		
	t, database, word processing	-	· =		
ternet utilizations.					
	Total Responses	3	100%	3	100%
ıble 2 Outcomes - f. knowled	ge of basic elements of a co	mputer	system and		
ow they work. This included	-	-	=		
perience in electronic sprea	-	_			
A 242 2		0	00.07.0/	2	00.07.0/
Agree Strongly Agree		2 1	66.67 % 33.33 %	2	66.67 % 100.00 %
Ottorigiy Agree	Total Decreases				
	Total Responses	3	100%	3	100%
ble 2 Outcomes - g. knowled	dge of areas in Business, Ec	onomic	S,		
	Office Administration that re)	
owledge to the academic go	oals fo the student.				
(Not Answered)		1	33.33 %	1	33.33 %
Agree		1	33.33 %	2	66.67 %
Strongly Agree		1	33.33 %	3	100.00 %
	Total Responses	3	100%	3	100%
	·				
ble 2 Outcomes - h. knowled	dge appropriate to the acade	mic go	als of the		
udent.					
Agree		1	33.33 %	1	33.33 %
Strongly Agree		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
	•				
quality of instruction by fac-	ulty				
Good		1	33.33 %	1	33.33 %
Excellent		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
				-	
. academic advising					
o. academic advising Good		2	66.67 %	2	66 67 %
Good		2 1	66.67 % 33.33 %	2	66.67 % 100.00 %
_	Total Responses	1	33.33 %	3	100.00 %
Good	Total Responses				
Good	·	1	33.33 %	3	100.00 %
Good Excellent clarity of program requirement	·	3	33.33 %	3 3	100.00 % 100%
Good Excellent	·	1	33.33 %	3	100.00 %

June 19, 2009

		Cumulative Cumulative			
	C	ount	Percent	Count	Percent
. clarity of program requirements					
, . , . J					
	Total Responses	3	100%	3	100%
. availability of faculty advisor					
Good		1	33.33 %	1	33.33 %
Excellent		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
career counseling advising					
Good		2	66.67 %	2	66.67 %
Excellent		1	33.33 %	3	100.00 %
-	Total Responses	3	100%	3	100%
quality of instruction in laborator	ies				
Good		1	33.33 %	1	33.33 %
Excellent		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
accessibility of faculty					
Good		1	33.33 %	1	33.33 %
Excellent		2	66.67 %	3	100.00 %
-	Total Responses	3	100%	3	100%
availability of needed courses					
Good		2	66.67 %	2	66.67 %
Excellent		1	33.33 %	3	100.00 %
-	Total Responses	3	100%	3	100%
range of courses from which to c	hoose				
Good		2	66.67 %	2	66.67 %
Excellent		1	33.33 %	3	100.00 %
-	Total Responses	3	100%	3	100%
information about course require	ments				
Good		1	33.33 %	1	33.33 %
Excellent		2	66.67 %	3	100.00 %
-	Total Responses	3	100%	3	100%

k. testing/grading system

		Count	Percent	Cumulative Count	Cumulative Percent	
And the first transfer						
k. testing/grading system						
Good		1	33.33 %	1	33.33 %	
Excellent		2	66.67 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
l. class size						
Good		1	33.33 %	1	33.33 %	
Excellent		2	66.67 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
n. classroom and teaching fa	acilities					
Good		2	66.67 %	2	66.67 %	
Excellent		1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
n. relevance of classes to car	eer goals/objectives					
Good		1	33.33 %	1	33.33 %	
Excellent		2	66.67 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
25. Overall, how would you ra	ata yaur laval of acticfaction	a with tha	DITCINECC			
GENERAL program received		ii witii tiie	BOSINESS,			
a. Very Satisfied		1	33.33 %	1	33.33 %	
b. Satisfied		1	33.33 %	2	66.67 %	
e. Neutral		1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	
26. Would you recommend th	e program to someone who	o would w	ant to major in	1		
BUSINESS, GENERAL?						
a. Yes		2	66.67 %	2	66.67 %	
c. Don't Know		1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	_
27. If you could do it all over	again, would vou choose a	different	major for vour			
degree?	· · · · · · · · · · · · · · · · · · ·		-			
b. No		2	66.67 %	2	66.67 %	
c. Don't Know		1	33.33 %	3	100.00 %	
	Total Responses	3	100%	3	100%	